Second column	BID TABULATION Project: 2016-2017 Task Order Contract for Federally Funded Projects - Package 2 Bid Opening: Tuesday, September 15, 2015 @ 2:00 PM Owner: City of San Antonio Transportation & Capital Improvements Engineer: Lockwood, Andrews & Newnam, Inc. 10101 Reunion Place, Suite 200, San Antonio, Texas 78216-4165 (210) 499-5082 LAN Project No.: 120-11739-011		1319 March Rd. 790 San Antonio, TX 78214 Aust		Austin, T	ructors, LLC FM 973 X 78719 66-8690	J3 Company, LLC PO BOX 129 Comfort, TX 78013 830-995-5100		Clark Construction of Texas, Inc. 5140 Gibbs Sprawl Rd. San Antonio, TX 78219 210-661-6785		H. L. Zumwalt Construction, Inc. 12354 F. M. 1560 N. Helotes, TX 78023 210-695-3541		Pronto Sandblasting & Coating & Oilfield Services Co., Inc. 9456 South Presa San Antonio, TX 78223 210-633-2035		E-Z Bel Construction, LLC 203 Recoleta San Antonio, TX 78216 210-736-6595		Engineer's Estimate		Contractor Average		
1.		QUANTITY	UNIT	1		UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	AVG UNIT PRICE	TOTAL
The property Part																					
1.		,		70.10					,		,								,		\$34,665.71
15 15 15 15 15 15 15 15											,				,		,				\$54,771.43 \$2,914.29
1.			CY						1										,		\$36,648.57
150 150	107.1 EMBANKMENT (FINAL) (DENS CONT) (TY A)	300.00	CY	\$15.00	\$4,500.00	\$14.00	\$4,200.00	\$30.00	\$9,000.00	\$30.69	\$9,207.00	\$7.56	\$2,268.00	\$10.00	\$3,000.00	\$20.00	\$6,000.00	\$14.00	\$4,200.00	\$18.18	\$5,453.57
		,																	,		\$37,662.86
15									. ,												\$2,776.29
Column C									1.7												\$3,371.57 \$64,780.71
15.		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,																			\$57,344.29
10 10 10 10 10 10 10 10		9,000.00	SY				\$148,500.00		\$162,000.00						\$216,000.00		\$153,000.00		\$135,000.00		\$157,590.00
1.00 1.00	SALVAGING, HAULING AND STOCKPILING RECLAIMABLE										,				,		,				\$66,677.14 \$16,240.00
Communication Communicatio	209.1 CONCRETE PAVEMENT (10" THICK)	750.00		\$79.00	\$59,250.00	\$80.50	\$60,375.00	\$70.00	\$52,500.00	\$80.00	\$60,000.00	\$160.98	\$120,735.00	\$100.00	\$75,000.00	\$110.00	\$82,500.00	\$85.00	\$63,750.00	\$97.21	\$72,908.57
Company																					\$7,790.40
Second Content (1985)																					\$465,464.29
MAINTANDENNISSAME AND ADMINISSAME MAINTANDEN MAINTA		.,																			\$1,440,348.71 \$354,169.64
Section Company Comp																					\$282,201.43
Second	505.1 CONCRETE RIPRAP (5" THICK)	250.00	SY	\$34.00	\$8,500.00	\$35.00	\$8,750.00	\$60.00	\$15,000.00	\$45.00	\$11,250.00	\$68.99	\$17,247.50	\$120.00	\$30,000.00	\$100.00	\$25,000.00	\$70.00	\$17,500.00	\$66.14	\$16,535.36
Page						\$400.00		\$600.00	,	\$550.00		\$739.80		\$800.00		\$1,200.00		\$550.00	,		\$67,354.29
Color Colo														400.00				420.00			\$4,331.43
March Marc									1										,		\$3,677.14 \$1,350.71
Second Control Control 1.50 1.5																			. , ,		\$5,391.43
MAIN AND AGE			LF																		\$1,645.71
1999 1999	508.2A RELOCATING WROUGHT IRON FENCE	100.00		\$100.00	\$10,000.00	\$30.00	\$3,000.00	\$15.00	\$1,500.00	\$25.00	\$2,500.00	\$70.20	\$7,020.00	\$30.00	\$3,000.00	\$32.00	\$3,200.00	\$40.00	\$4,000.00	\$43.17	\$4,317.14
MATERIAN PROPERTY AND PROPERT																					\$5,851.43
1.50 1.50																					\$10,050.00
AND SAME BOOK AND STORM SAME																					\$6,374.86 \$9,054.29
1.5 1.5			EA																		\$4,545.71
1500 1500	513.1 REMOVING AND RELOCATING MAILBOX	175.00	EA	\$100.00	\$17,500.00	\$40.00	\$7,000.00	\$100.00	\$17,500.00	\$150.00	\$26,250.00	\$108.00	\$18,900.00	\$100.00	\$17,500.00	\$50.00	\$8,750.00	\$125.00	\$21,875.00	\$92.57	\$16,200.00
Marie Antiform Marie Antiform Marie Ma									1.0,0.0.0.0										,		\$11,302.86
Section Sect		/													,		,		,		\$55,839.29 \$36,771.43
STITE ADDRESS AND STATES STATES AND STATES STATES AND STATES STATES AND STATES									1,						. ,,,,,,,,,						\$36,771.43
STATE STAT	520.1 HYDROMULCHING	1,500.00	SY	\$9.00	\$13,500.00	\$4.00	\$6,000.00	\$2.00	\$3,000.00	\$6.00	\$9,000.00	\$3.24	\$4,860.00	\$2.00	\$3,000.00	\$1.00	\$1,500.00	\$3.00	\$4,500.00	\$3.89	\$5,837.14
STATE STAT	522.1 SIDEWALK PIPE RAILING			\$76.00	\$19,000.00	\$76.00	\$19,000.00	\$50.00	\$12,500.00	\$110.00	\$27,500.00	\$88.56	\$22,140.00	\$90.00	\$22,500.00	\$80.00	\$20,000.00	\$90.00	\$22,500.00	\$81.51	\$20,377.14
STATE STAT																					\$5,842.86
STATE STAT																					\$1,418.51 \$3,690.00
Second Conference Seco					41,100.00	9500.00									Ψ5,500.00						\$3,302.57
Second Performance Second	523.6 ADJUSTING WROUGHT IRON PEDESTRIAN GATE	5.00	EA	\$300.00	\$1,500.00	\$400.00	\$2,000.00	\$200.00	\$1,000.00	\$400.00	\$2,000.00	\$216.00	\$1,080.00	\$500.00	\$2,500.00	\$450.00	\$2,250.00	\$400.00	\$2,000.00	\$352.29	\$1,761.43
55.5 APECH WITHER LINE (SEEP)															,						\$19,985.71
55.52 ANCHWIDE WIRTE LINE SOLID 25.00 147.00 51.00																					\$472.86
SSS INCHWINE WHITE LINE SOLID 200 LF SSD	1																				\$472.86 \$511.39
S5.7 24 INCH WIDE WHITE LINE (SOLID) 200 LF \$5.00 \$1,000.00 \$5.00 \$1,200.00 \$5.00 \$1,200.00 \$5.00 \$1,000.00 \$5.00 \$1,000.00 \$5.00 \$1,000.00 \$5.00 \$1,000.00 \$5.00 \$1,000.00 \$5.00 \$1,000.00 \$5.00 \$1,000.00 \$5.00			LF																		\$932.86
Substitute Sub	535.5 12 INCH WIDE WHITE LINE (SOLID)	200	LF	\$6.00	\$1,200.00	\$3.50	\$700.00	\$15.00	\$3,000.00	\$10.35	\$2,070.00	\$4.00	\$800.00	\$10.00	\$2,000.00	\$3.00	\$600.00	\$10.00	\$2,000.00	\$7.41	\$1,481.43
\$80.1 CURB INLET GRAVEL FILTERS 150 LF \$5.00 \$75.00 \$5															,						\$2,397.14
S52.1 REMOVING AND RELOCATING IRRIGATION SYSTEMS 1,500 LF \$12.00 \$18.0000 \$12.00 \$18.0000 \$15.00 \$52.5000 \$57.000 \$57.000 \$57.000 \$51.000																					\$3,981.43
554.1 EROSION CONTROL MATTING 600 SY \$6.00 \$3.600.00 \$5.00.00																					\$1,152.86 \$20,892.86
801.2 LEVEL IIA PROTECTIVE FENCING 100 LF \$10.00 \$1.00.00 \$5.00 \$5.00 \$5.00.00 \$5.00 \$5.00.00															,						\$5,720.57
SUL LEVEL IB PROTECTIVE FENCING 100 LF \$15.00 \$1.500.00 \$5.00 \$5.000.00	556.1 CAST IN PLACE DETECTABLE WARNING SURFACE TILE	250	EA	\$220.00	\$55,000.00	\$120.00	\$30,000.00	\$170.00	\$42,500.00	\$150.00	\$37,500.00	\$162.00	\$40,500.00	\$400.00	\$100,000.00	\$300.00	\$75,000.00	\$225.00	\$56,250.00	\$217.43	\$54,357.14
802.1 LEVEL IL PRUNING 50 EA \$125.00 \$5,000.00 \$10,000.00 \$5,000.0				\$10.00	\$1,000.00	\$5.00	\$500.00	\$21.00	\$2,100.00	\$17.00	\$1,700.00	\$10.80	\$1,080.00	\$10.00	\$1,000.00	\$5.00	\$500.00	\$9.00	\$900.00	\$11.26	\$1,125.71
804 NEW TREE & SHRUB PLANTING & MAINTENANCE (3" CALIPER) 15 EA \$2,000,00 \$30,000,00 \$450,00 \$6,750,00 \$500,00 \$7,500,00 \$500,00 \$7,500,00 \$11,250,00 \$500,00 \$7,500,00 \$11,250,0																					\$1,908.57
9506 REMOVAL AND REPLACEMENT OF WROUGHT IRON FENCE 100 LF \$78.00 \$5,00.00 \$80.00 \$80.00 \$80.00 \$5.00.00 \$5.00.00 \$5.00.00 \$5.00.00 \$12.00.0 \$12.00.00 \$12.00.00 \$12.00.00 \$12.00.00 \$80.00 \$80.00 \$80.00 \$80.00 \$80.00 \$80.00 \$80.00 \$80.00 \$80.00 \$80.00 \$80.00 \$12.50.00																					\$12,142.86 \$11,766.43
SUP 1 REMOVING AND RELOCATING SIGN 125 EA \$125,00 \$15,625,00 \$25,00 \$3,125,00 \$100,00 \$125,00 \$100,00 \$13,750,00 \$100,00 \$13,750,00 \$100,00 \$13,750,00 \$100,00 \$12,500,00 \$100,00 \$12,500,00 \$100,00 \$12,500,00 \$100,00 \$12,500,00 \$100,00 \$12,500,00 \$100,00 \$12,500,00 \$100,00 \$12,500,00 \$100,00 \$12,500,00 \$100,00 \$12,500,00 \$100,00 \$12,500,00 \$100,00 \$12,500,00 \$100,00 \$12,500,00 \$100,00																					\$6,914.29
SUP 3 SIDEWALK DRAIN BOX 20 EA \$85.00 \$17,000.00 \$350.00 \$1,000.00 \$350.00 \$1,000.00 \$350.00 \$1,200.00 \$25,920.00 \$1,200.00 \$24,000.00 \$324,00 \$0 \$10,000.00 \$324,00 \$10,000.00	SUP 1 REMOVING AND RELOCATING SIGN	125	EA																		\$11,346.43
SUP 4 REMOVAL AND HAUL OFF OF EXISTING ROCK/MASONRY MAILBOX 40 EA \$150.00 \$6,000.00 \$150.00 \$6,000.00 \$150.00 \$6,000.00 \$125.00 \$520.00 \$820.00 \$800.00 \$129.00 \$800.00 \$129.0																					\$24,364.29
SUP 5 TREE REMOVAL (8" - 36" DIAMETER) 20 EA \$2,300.00 \$46,000.00 \$500.00 \$11,500.00 \$572.00 \$19,440.00 \$800.00 \$16,000.00 \$20,000.00																					\$17,560.00
SUP 6 TCI "AT WORK" PROJECT SIGN 8 EA \$350.00 \$2,800.00 \$300.00 \$2,400.00 \$600.00 \$4,800.00 \$1,143.64 \$1,149.12 \$500.00 \$4,000.00 \$325.00 \$2,600.00 \$3,200.00 \$334.81 \$1.00 \$1																					\$6,565.71 \$19,848.57
SUP 7 ADJUSTING METAL BEAM GUARD RAIL 100 LF \$10.00 \$1,000.00 \$1,000.00 \$1,000.00 \$20.00 \$2,000.00 \$1,000.00 \$1,000.00 \$20.00 \$2,000.00 \$20.00 \$2,000.00 \$20															,						\$2,678.45
SUBS ADDICTING TRACEIC SIGNAL POV	SUP 7 ADJUSTING METAL BEAM GUARD RAIL	100	LF												. ,		,				\$2,445.71
3,00,00 3,00,00 30,00,00 30,00,00 32,00 32,00	SUP 8 ADJUSTING TRAFFIC SIGNAL BOX	10	EA	\$300.00	\$3,000.00	\$400.00	\$4,000.00	\$600.00	\$6,000.00	\$250.00	\$2,500.00	\$648.00	\$6,480.00	\$500.00	\$5,000.00	\$350.00	\$3,500.00	\$500.00	\$5,000.00	\$435.43	\$4,354.29
SUP 9 POLICE OFFICER 200 HR \$45.00 \$9,000.00 \$40.00 \$50.00 \$10,000.																					\$9,307.43 \$15,214.57

BID TABULATION																				
Project: 2016-2017 Task Order Contract for Federally Funded Projects - Package 2 Bid Opening: Tuesday, September 15, 2015 @:2:00 PM Owner: City of San Antonio Transportation & Capital Improvements Engineer: Lockwood, Andrews & Newnam, Inc. 10101 Reunion Place, Suite 200, San Antonio, Texas 78216-4165 (210) 499-5082 LAN Project No.: 120-11729-011			F. D. Concrete LLC 1319 March Rd. San Antonio, TX 78214 210-927-9796 LOWEST RESPONSIVE BIDDER		Austin Constructors, LLC 7907 S. FM 973 Austin, TX 78719 512-386-8690		J3 Company, LLC PO BOX 129 Comfort, TX 78013 830-995-5100		Clark Construction of Texas, Inc. 5140 Gibbs Sprawl Rd. San Antonio, TX 78219 210-661-6785		H. L. Zumwalt Construction, Inc. 12354 F. M. 1560 N. Helotes, TX 78023 210-695-3541		Pronto Sandblasting & Coating & Oilfield Services Co., Inc. 9456 South Presa San Antonio, TX 78223 210-633-2035		E-Z Bel Construction, LLC 203 Recoleta San Antonio, TX 78216 210-736-6595		Engineer's Estimate		Contractor Average	
ITEM DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	AVG UNIT PRICE	TOTAL
SUP 11 ASTM # 57 STONE (4" THICK) (FOR SIDEWALK INSTALLATION)	5,000	SY	\$9.50	\$47,500.00	\$8.00	\$40,000.00	\$6.00	\$30,000.00	\$3.00	\$15,000.00	\$13.08	\$65,400.00	\$68.00	\$340,000.00	\$9.00	\$45,000.00	\$10.00	\$50,000.00	\$16.65	\$83,271.43
Total CoSA Bid Amou	int:			\$2,859,080.00		\$3,269,170.75		\$3,406,425.00		\$3,603,123.75		\$3,630,776.52		\$4,929,545.00		\$5,227,711.25		\$3,407,500.00		\$3,846,547.47
SAWS WATER BID ITEMS																				
826 SAWS VALVE BOX ADJUSTMENT	25	EA	\$60.00	\$1.500.00	\$100.00	\$2,500.00	\$500.00	\$12,500.00	\$250.00	\$6.250.00	\$216.00	\$5,400.00	\$200.00	\$5,000,00	\$245.00	\$6.125.00	\$250.00	\$6.250.00	\$224.43	\$5,610,71
833 SAWS EXISTING METER AND METER BOX RELOCATION	10	EA	\$60.00	\$1,500.00	\$100.00	\$2,500.00	\$500.00 \$1,000.00	\$12,500.00	\$250.00 \$500.00	\$5,000.00	\$216.00 \$540.00	\$5,400.00	\$200.00 \$300.00	\$5,000.00	\$245.00 \$50.00	\$6,125.00		\$6,250.00	\$224.43 \$577.14	\$5,610.71 \$5,771.43
833A SAWS ADJUSTING EXISTING METER BOX	225	EA	\$830.00 \$75.25	\$16,931.25	\$125.00	\$28,125.00	\$1,000.00	\$33,750.00	\$300.00	\$67,500.00	\$216.00	\$48,600.00	\$100.00	\$22,500.00	\$155.00	\$34.875.00	4000100	40,000.00	\$160.18	\$36,040,18
Subtotal SAWS Water Bid Amou			\$73.23	\$26,931.25	\$123.00	\$38,625.00	\$130.00	\$56,250.00	\$300.00	\$78,750.00	3216.00	\$59,400.00	\$100.00	\$30,500.00	4100.00	\$41,500.00	4-0.00	\$70,500.00	\$100.18	\$47,422.32
				,		,.		,		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		, , , , , , , , , , , , , , , , , , , ,		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		, ,,				
SAWS SANITARY SEWER BID ITEMS																				
851 SAWS ADJUSTING EXISTING MANHOLE	15	EA	\$650.00	\$9,750.00	\$700.00	\$10,500.00	\$3,000.00	\$45,000.00	\$500.00	\$7,500.00	\$378.00	\$5,670.00	\$1,000.00	\$15,000.00	\$4,000.00	\$60,000.00	\$1,200.00	\$18,000.00	\$1,461.14	\$21,917.14
854A ADJUST EXISTING SEWER CLEANOUT	5	EA	\$203.25	\$1,016.25	\$600.00	\$3,000.00	\$700.00	\$3,500.00	\$250.00	\$1,250.00	\$216.00	\$1,080.00	\$500.00	\$2,500.00	\$350.00	\$1,750.00	\$800.00	\$4,000.00	\$402.75	\$2,013.75
Subtotal SAWS Sanitary Sewer Bid Amou	int:			\$10,766.25		\$13,500.00		\$48,500.00		\$8,750.00		\$6,750.00		\$17,500.00		\$61,750.00		\$22,000.00		\$23,930.89
Total SAWS Bid Amou	int:			\$37,697.50		\$52,125.00		\$104,750.00		\$87,500.00		\$66,150.00		\$48,000.00		\$103,250.00		\$92,500.00		
TOTAL BASE B	ID.			\$2.896,777.50		\$3,321,295,75		\$3,511,175,00		\$3,690,623,75		\$3,696,926.52		\$4,977,545,00		\$5,330,961,25		\$3,500,000.00		\$3,917,900.68
TOTAL BASE B	ID.			φ <u>2</u> ,090,777.30		93,321,293.73		φ3,311,175.00		φ3,090,023.73		\$3,070,920.32		ф ч , э / /, 545.00		φυ,υυυ,901.25		φυ,υσυ,υσυ.υσ		φ3,717,900.08

BID TABULATION Project: 2016-2017 Task Order Contract for Federally Funded Projects - Package 2 FD Concrete, LLC **Engineer's Estimate Unit Price Comparison** Bid Opening: Tuesday, September 15, 2015 @ 2:00 PM PO Box 14506 San Antonio, TX 78214 Owner: City of San Antonio Transportation & Capital Improvements Engineer: Lockwood, Andrews & Newnam, Inc. 210-927-9796 10101 Reunion Place, Suite 200, San Antonio, Texas 78216-4165 (210) 499-5082 LAN Project No.: 120-11729-011 ITEM DESCRIPTION QUANTITY UNIT PRICE TOTAL AVG UNIT PRICE UNIT UNIT PRICE TOTAL TOTAL BASE BID LF REMOVE CONCRETE CURB 22,000.00 \$0.40 \$8,800.00 \$2.25 \$49,500.00 (\$1.85) -82.29 SF 103.3 REMOVE SIDEWALKS & DRIVEWAYS 36.000.00 \$1.00 \$36,000.00 \$2.00 \$72,000.00 (\$1.00) -50.09 SF REMOVE MISCELLANEOUS CONCRETE 1,000.00 \$1.00 \$1,000.00 \$3.00 \$3,000.00 (\$2.00) -66.79 STREET EXCAVATION 1,000.00 CY\$20.00 \$20,000.00 \$24.00 \$24,000.00 (\$4.00) -16.79 104.1 CY\$15.00 \$4,500.00 107.1 EMBANKMENT (FINAL) (DENS CONT) (TY A) 300.00 \$14.00 \$4,200.00 \$1.00 7.19 SY 4,000.00 \$6.50 \$26,000.00 (\$2.50) -27.8% 200.1 FLEXIBLE BASE (6" COMPACTED DEPTH) \$9.00 \$36,000.00 GAL \$2,100.00 \$1.00 16.7% 202.1 PRIME COAT 300.00 \$7.00 \$6.00 \$1,800,00 GAL 300.00 \$7.00 \$2,100.00 \$6.00 \$1,800.00 \$1.00 16.79 SY \$43,500.00 (\$3.00) 205.2 HOT MIX ASPHALTIC PAVEMENT TYPE B (6" THICK) 1,500.00 \$29.00 \$32.00 \$48,000.00 -9.49 SY205.2 HOT MIX ASPHALTIC PAVEMENT TYPE B (8" THICK) 1,000.00 \$33.50 \$33,500.00 \$40.00 \$40,000.00 (\$6.50) -16.39 SY205.4 HOT MIX ASPHALTIC PAVEMENT TYPE D (2" THICK) 9,000.00 \$17.00 \$153,000.00 \$15.00 \$135,000.00 \$2.00 13.3% SY 205.4 HOT MIX ASPHALTIC PAVEMENT TYPE D (3" THICK) 3.000.00 \$17.50 \$52,500.00 \$18.00 \$54,000,00 (\$0.50) -2.8% SALVAGING, HAULING AND STOCKPILING RECLAIMABLE SY1.000.00 \$15,000.00 208.1 ASPHALTIC PAVEMENT (2" - 3" DEPTH) \$15.00 \$12.00 \$12,000.00 \$3.00 SYCONCRETE PAVEMENT (10" THICK) 750.00 \$79.00 \$59,250.00 \$85.00 \$63,750.00 (\$6.00) -7.1% FLOWABLE FILL (HIGH STRENGTH) 60.00 CY\$80.00 \$4,800.00 (\$45.00) -36.0% 413.2 \$125.00 \$7,500.00 LF 500.1 CONCRETE CURB, CURB AND GUTTER, AND MOUNTABLE CURB 25,000.00 \$10.90 \$272,500.00 \$13.00 \$325,000.00 (\$2.10) -16.29 SY\$1,018,800.00 (\$7.00) 502.1 CONCRETE SIDEWALKS 28,300.00 \$36.00 \$43.00 \$1,216,900.00 -16.39 SY\$268,750.00 503.1 PORTLAND CEMENT CONCRETE DRIVEWAY 6.250.00 \$43.00 \$55.00 \$343,750,00 (\$12.00) -21.89 PORTLAND CEMENT CONCRETE DRIVEWAY - COMMERCIAL 4,500.00 SY\$43.50 \$195,750.00 \$270,000.00 (\$16.50) -27.5% 503.2 \$60.00 250.00 SY \$34.00 \$8,500.00 \$17,500.00 (\$36.00) -51.4% 505.1 CONCRETE RIPRAP (5" THICK) \$70.00 CYCONCRETE RETAINING WALLS - COMBINATION TYPE 100.00 \$425.00 \$42,500.00 \$550.00 \$55,000.00 (\$125.00) -22.79 LF 507.1 CHAIN LINK WIRE FENCE - 4 FT. HIGH 250.00 \$16.00 \$4,000.00 \$16.00 \$4,000.00 \$0.00 0.09 LF 507.2 CHAIN LINK WIRE FENCE - 6 FT. HIGH 150.00 \$18.00 \$2,700.00 \$20.00 \$3,000.00 (\$2.00) -10.09 GATES - PEDESTRIAN 5.00 EA \$100.00 \$350.00 \$1,750.00 (\$250.00) 507.4 \$500.00 -71.4% OPENING \$4,000.00 (\$400.00 -50.09 507.5 GATES - VEHICULAR 10.00 \$400.00 \$800.00 \$8,000,00 LF 508.1 RELOCATING WIRE FENCE 150.00 \$10.00 \$1,500.00 \$11.00 (\$1.00) -9.19 LF 508 2A RELOCATING WROUGHT IRON FENCE 100.00 \$100.00 \$10,000.00 \$40.00 \$4,000,00 \$60.00 150.09 LF 509.1 METAL BEAM GUARD RAIL 100.00 \$40.00 \$4,000.00 \$50.00 \$5,000.00 (\$10.00) -20.09 EA \$11,250.00 510 TIMBER GUARD POSTS 75.00 \$150.00 \$150.00 \$11,250.00 \$0.00 0.0% EA (\$100.00) 8.00 \$1,100.00 \$8,800.00 \$1,200.00 -8.39 512.1 ADJUSTING EXISTING MANHOLES (NON-SAWS) \$9,600.00 EA 512.2 RECONSTRUCTING EXISTING MANHOLES (NON-SAWS) 5.00 \$2,000.00 \$10,000.00 \$2,000.00 \$10,000.00 \$0.00 0.09 EA VALVE BOX ADJUSTMENTS (NON-SAWS) 20.00 \$200.00 \$4,000.00 \$180.00 \$3,600.00 \$20.00 11.1% 512.3 EA 513.1 REMOVING AND RELOCATING MAILBOX 175.00 \$100.00 \$17,500.00 \$125.00 \$21,875.00 (\$25.00)-20.09 EA 513.1A DECORATIVE MAILBOX 40.00 \$300.00 \$12,000.00 \$250.00 \$10,000.00 \$50.00 20.0% CY\$47,500.00 (\$5.00) 515 1 OPSOIL 2.500.00 \$19.00 \$24.00 \$60,000,00 -20.8% SYBERMUDA SODDING 6,000.00 \$6.50 \$39,000.00 \$6.00 \$0.50 8.39 516.1 SY\$7.00 \$42,000.00 \$1.00 16.79 ST. AUGUSTINE SODDING 6 000 00 \$6.00 516.2 \$36,000,00 SY HYDROMULCHING 1,500.00 \$9.00 \$13,500.00 \$3.00 \$4,500.00 \$6.00 200.09 520.1 LF 522.1 SIDEWALK PIPE RAILING 250.00 \$76.00 \$19,000.00 \$90.00 \$22,500.00 (\$14.00) -15.6% OPENING (\$200.00) \$150.00 \$3,750.00 -57.19 523.1 ADJUSTING CHAIN LINK VEHICULAR GATE 25.00 \$350.00 \$8,750.00 523.3 ADJUSTING CHAIN LINK PEDESTRIAN GATE 10.00 EA \$100.00 \$1,000.00 \$250.00 (\$150.00 -60.09 523.4 ADJUSTING WROUGHT IRON VEHICULAR GATE 7.00 EA \$200.00 \$1,400.00 \$600.00 \$4,200.00 (\$400.00 -66.7 EA 523.5 ADJUSTING WROUGHT IRON VEHICULAR GATE (MOTORIZED) 3.00 \$1,000.00 \$3,000.00 \$2,500.00 \$7,500.00 (\$1,500.00) -60.09 EA 523.6 ADJUSTING WROUGHT IRON PEDESTRIAN GATE 5.00 \$300.00 \$1,500.00 \$400.00 \$2,000.00 (\$100.00) -25.0% CY(\$275.00 524.1 CONCRETE STEPS 50.00 \$225.00 \$11,250.00 \$500.00 \$25,000.00 -55.09 LF \$4.00 535.1 INCH WIDE YELLOW LINE (SOLID) 200.00 \$2.00 \$400.00 \$800.00 (\$2.00 -50.09 LF \$2.00 \$400.00 \$4.00 INCH WIDE WHITE LINE (SKIP) 200.00 \$800.00 (\$2.00) -50.0 535.2 LF INCH WIDE WHITE LINE (SOLID) 215.00 \$2.00 \$430.00 \$5.00 \$1,075.00 (\$3.00) -60.09 LF INCH WIDE WHITE LINE (SOLID) \$5.00 \$1,000.00 \$8.00 (\$3.00) -37.5% 535.4 200.00 \$1,600.00 535.5 12 INCH WIDE WHITE LINE (SOLID) 200 LF \$6.00 \$1,200.00 \$10.00 \$2,000.00 (\$4.00) -40.09 200 LF 535.7 24 INCH WIDE WHITE LINE (SOLID) \$8.00 \$1,600.00 \$14.00 \$2,800.00 (\$6.00) -42.9% 540.9 TEMPORARY SEDIMENT CONTROL FENCE (INSTALL/REMOVE) 500 LF \$4.00 \$2,000.00 0.0% \$4.00 \$2,000,00 \$0.00

Bid Openin Owner: Cit Engineer: L 10101 Reun	ATION 6-2017 Task Order Contract for Federally Funded Projects - Package 2 g: Tuesday, September 15, 2015 @ 2:00 PM y of San Antonio Transportation & Capital Improvements ockwood, Andrews & Newnam, Inc. ion Place, Suite 200, San Antonio, Texas 78216-4165 (210) 499-5082 No.: 120-11729-011		7-9796	Engineer's	Estimate	Unit Price Comparison			
ITEM	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	AVG UNIT PRICE	TOTAL
540.1	CURB INLET GRAVEL FILTERS	150	LF	\$5.00	\$750.00	\$12.00	\$1,800.00	(\$7.00)	-58.3%
552.1	REMOVING AND RELOCATING IRRIGATION SYSTEMS	1,500	LF	\$12.00	\$18,000.00	\$25.00	\$37,500.00	(\$13.00)	-52.0%
554.1	EROSION CONTROL MATTING	600	SY	\$6.00	\$3,600.00	\$9.00	\$5,400.00	(\$3.00)	-33.3%
556.1	CAST IN PLACE DETECTABLE WARNING SURFACE TILE	250	EA	\$220.00	\$55,000.00	\$225.00	\$56,250.00	(\$5.00)	-2.2%
801.2	LEVEL IIA PROTECTIVE FENCING	100	LF	\$10.00	\$1,000.00	\$9.00	\$900.00	\$1.00	11.1%
801.3	LEVEL IIB PROTECTIVE FENCING	100	LF	\$15.00	\$1,500.00	\$20.00	\$2,000.00	(\$5.00)	-25.0%
802.1	LEVEL II PRUNING	50	EA	\$125.00	\$6,250.00	\$400.00	\$20,000.00	(\$275.00)	-68.8%
804	NEW TREE & SHRUB PLANTING & MAINTENANCE (3" CALIPER)	15	EA	\$2,000.00	\$30,000.00	\$800.00	\$12,000.00	\$1,200.00	150.0%
9506	REMOVAL AND REPLACEMENT OF WROUGHT IRON FENCE	100	LF	\$78.00	\$7,800.00	\$80.00	\$8,000.00	(\$2.00)	-2.5%
SUP 1	REMOVING AND RELOCATING SIGN	125	EA	\$125.00	\$15,625.00	\$110.00	\$13,750.00	\$15.00	13.6%
SUP 2	ELEVATED SIDEWALK	125	LF	\$175.00	\$21,875.00	\$190.00	\$23,750.00	(\$15.00)	-7.9%
SUP 3	SIDEWALK DRAIN BOX	20	EA	\$850.00	\$17,000.00	\$800.00	\$16,000.00	\$50.00	6.3%
SUP 4	REMOVAL AND HAUL OFF OF EXISTING ROCK/MASONRY MAILBOX	40	EA	\$150.00	\$6,000.00	\$325.00	\$13,000.00	(\$175.00)	-53.8%
SUP 5	TREE REMOVAL (8" - 36" DIAMETER)	20	EA	\$2,300.00	\$46,000.00	\$1,000.00	\$20,000.00	\$1,300.00	130.0%
SUP 6	TCI "AT WORK" PROJECT SIGN	8	EA	\$350.00	\$2,800.00	\$400.00	\$3,200.00	(\$50.00)	-12.5%
SUP 7	ADJUSTING METAL BEAM GUARD RAIL	100	LF	\$10.00	\$1,000.00	\$35.00	\$3,500.00	(\$25.00)	-71.4%
SUP 8	ADJUSTING TRAFFIC SIGNAL BOX	10	EA	\$300.00	\$3,000.00	\$500.00	\$5,000.00	(\$200.00)	-40.0%
SUP 9	POLICE OFFICER	200	HR	\$45.00	\$9,000.00	\$50.00	\$10,000.00	(\$5.00)	-10.0%
SUP 10	ADDITIONAL MOBILIZATION*	5	EA	\$3,270.00	\$16,350.00	\$2,200.00	\$11,000.00	\$1,070.00	48.6%
SUP 11	ASTM # 57 STONE (4" THICK) (FOR SIDEWALK INSTALLATION)	5,000	SY	\$9.50	\$47,500.00	\$10.00	\$50,000.00	(\$0.50)	-5.0%
	Total CoSA Bid Amount:				\$2,859,080.00		\$3,407,500.00		
	SAWS WATER BID ITEMS								
826	SAWS VALVE BOX ADJUSTMENT	25	EA	¢c0.00	¢1.500.00	\$250.00	ec 250 00	(6100.00)	76.000
833	SAWS EXISTING METER AND METER BOX RELOCATION	10	EA	\$60.00	\$1,500.00	\$250.00 \$800.00	\$6,250.00	(\$190.00)	-76.0%
833A	SAWS ADJUSTING EXISTING METER BOX	225	EA	\$850.00	\$8,500.00	\$250.00	\$8,000.00	\$50.00	6.3%
03371	Subtotal SAWS Water Bid Amount:	223	12.1	\$75.25	\$16,931.25 \$26,931.25	\$230.00	\$56,250.00 \$70,500.00	(\$174.75)	-69.9%
	Substantial Transfer and Transf				\$20,931.23		\$70,300.00		
	SAWS SANITARY SEWER BID ITEMS								
851	SAWS ADJUSTING EXISTING MANHOLE	15	EA	\$650.00	\$9,750.00	\$1,200.00	\$18,000.00	(\$550.00)	-45.8%
854A	ADJUST EXISTING SEWER CLEANOUT	5	EA	\$203.25	\$1,016.25	\$800.00	\$4,000.00	(\$596.75)	-74.6%
	Subtotal SAWS Sanitary Sewer Bid Amount:			Ψ203.23	\$10,766.25	\$555.00	\$22,000.00	(\$570.75)	74.070
					ψ10,700.23		<i>\$22,000.00</i>		
	Total SAWS Bid Amount:				\$37,697.50		\$92,500.00		
	TOTAL BASE BID				\$2,896,777.50		\$3,500,000.00		
							. , ,		